
Jerry Greer's Engineering - 1940 Chief - Chain Guard

Ref Part # Qty Description Price

Page 1               Created On: 04/26/2024 - Copyright 2024 Jerry Greer's Engineering



Jerry Greer's Engineering - 1940 Chief - Chain Guard

Ref Part # Qty Description Price

1 JG-3590 1 CHAIN GUARD, enclosed around kicker, installation instructions and mounting hardware included; Bare Finish $240.00

2 42586 1 CHAIN GUARD CLIP, Front Lower $8.00

3 42585 1 CHAIN GUARD CLIP, Front Upper $6.75

4 JG-3680 4 RIVET, 3/16" X 3/8"(Truss Head) $0.75

5 207007 1 BOLT, 1/4''-28 X .500''(Hex) $2.75

6 922006 1 WASHER, 1/4'' Split Lock; Cad Plated $0.75

7 920006 4 WASHER, 1/4'' Flat; Cad Plated $0.75

8 JG-3399 1 BRAKE LIGHT SWITCH WIRE CLIP, mounts to chain guard; Cad Plated $7.50

9 JG-2541 1 FASTENERS, Acorn nuts to attach chain guard; Cad Plated $11.25

10 37391 3 ACORN NUT, 1/4''-28, 9/16'' flats; Cad Plated $2.50

11 JG-2523 3 WASHER, 1/4'' internal tooth lock washer; Zinc Plated $0.50

Page 2               Created On: 04/26/2024 - Copyright 2024 Jerry Greer's Engineering


